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-A  (GROUP-A)
General Instructions :

 1 
Answer in one word or in one sentence the questions of 1 mark.

 2 50 3 75 5 
150 

Answer in about 50 words the questions of 2 marks, answer in about 75 words the questions of 3 marks
and answer in about 150 words the questions of 5 marks.

-B  (GROUP-B)
(MULTIPLE CHOICE QUESTIONS)

General Instructions : [ : 20 × 1 = 20


Each question carries one mark.


Write down the correct choice answer with question number from the given four options.
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SET–V
GROUP-A
PHYSICS

1. (shaving mirror) 1
Which type of mirror is shaving mirror ?

2. 1
What is dispersion of white light ?

3. 1
What is electric circuit ?

4. 1
What is commulator ?

5. 10 1
How much  is the power of concave lens having focal length 10 cm.

6. 2
Draw figure of electric bulb, naming each part.

7. 2
What do you mean by electromagnetic induction ?

8. 3
Why not planet is twinkling ? Discuss.

9. 3
Why it is necessary to earthed electrical appliances of metal body ?

10. 24 15 
5

The radius of curvature of convex mirror is 24 cm. What is position of image of object kept at 15 cm from
mirror.

CHEMISTRY
11. 1

Which of the following is oxidising compound in given equation ?
H2S + I2 2HI + S

12. 1
Base soluble in water is called ?

13. 1
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What is gange ?
14. C4H9OH 1

What is the name of C4H9OH ?
15. 1

In which sides metal is situated in table.
16.

Write the full name of following
(i) C N G (ii) LPG

17. 2
What is Isomerism ?

18. 3
Define acid, base and salt.

19. 3 6 3
Write the name of valency of elements having atomic number 3 to 6.

20.
What is difference between metal & non metal at the base of chemical properties ?

BIOLOGY
21. HIV 1

Write full form of HIV.
22. ( ) 1

Write one function of mucous.
23. 1

During respiration break down of glucose into pyruvate where take place in cell ?
24. 1

Give one example of plant hormone which prohibit growth.
25. 1

Which enzyme responsible for digestion of fat in food ?
26. 2

Write  importance of variation in living things.
27. 2

Why it is necessary to conserve biodiversity ?
28. 3

What is reflex arc ? Show it by diagram.
29. 3

What are differences between respiration and photosynthesis ?



SCIENCE : CLASS -X 53

SCIENCE

30. 5
Explain double circulation of heart in human being.

31.
(GROUP-B)

PHYSICS
(i) f — 1

(A) 1
f (B) f

(C) 1
p (D) p

The power of a lens of focal length f is—

(A) 1
f (B) f

(C) 1
p (D) p

(ii) — 1
(A) 1.33 (B) 1.65
(C) 1.44 (D) 2.42
The refractive index of diamond is—
(A) 1.33 (B) 1.65
(C) 1.44 (D) 2.42

(iii) — 1
(A) (B)
(C) (D)
An action of adujustment in eye lens is done by—
(A) Iris (B) Eye lens
(C) ciliary muscles (D) cornea

(iv) 1
(A) (B)
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(C) (D)
Which colour of light the wave length is maximum—
(A) Red (B) Yellow
(C) Violet (D) Blue

(v) — 1
(A) (B)
(C) (D)
Electric fuse saves the circuit from—
(A) High current flowing during overloading (B) High current flowing during short circuit
(C) Both of these (D) None of these

(vi) 1
(A) 100Hz (B) 40Hz
(C) 50Hz (D) 60Hz
The frequency of an alternating current is—
(A) 100Hz (B) 40Hz
(C) 50Hz (D) 60Hz

(vii) S.I. — 1
(A) (B)
(C) (D)
The S.I. unit of magnetic field is—
(A) Tesla (B) Newton
(C) Meter (D) Ampere

CHEMISTRY
(viii) 1

(A) (B)
(C) (D)
The compound take part in chemical reaction is called ?
(A) Oxidising agent (B) Reducing agent
(C) Reactant (D) Product

(ix) 1
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(A) CH 3COOH (B) C6H12O6
(C) C12H22O11 (D) CH 3CHO
What is the chemical formula of sugar ?
(A) CH 3COOH (B) C6H12O6
(C) C12H22O11 (D) CH 3CHO

(x) 1
(A) (B)
(C) (D)
Which of the following non metal is conductor of electricity ?
(A) Graphite (B) Copper
(C) Diamond (D) Sulphur

(xi) 1
(A) 2 (B) 3 
(C) 4 (D) 1 
The approx number of carbon compounds is—
(A) 2 million (B) 3 million
(C) 4 million (D) 1 million

(xii) 1
(A) Li (B) Na
(C) M g (D) Rb
Which of the following is not alkali metal ?
(A) Li (B) Na
(C) M g (D) Rb

(xiii) 1
(A) 290 k (B) 209 k
(C) 156 k (D) 90 k
Which is melting point of acetic acid ?
(A) 290 k (B) 209 k
(C) 156 k (D) 90 k

(xiv) 1
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(A) HCl (B) HNO 3
(C) H2SO4 (D) K O H
Which of the following is not acid ?
(A) HCl (B) HNO 3
(C) H2SO4 (D) K O H

BIOLOGY
(xv) O2 CO2 1

(A) (B)
(C) ‘a ‘b’ (D)
By which biochemical reaction in atmosphere to maintain balance between O2 and CO2 ?
(A) respiration (B) photosynthesis
(C) ‘a’ and ‘b’ both (D) none of these

(xvi) 1
(A) (B)
(C) (D)
In any ecosystem biological factors are
(A) light and water (B) plants and soil
(C) green plants and water (D) plants, animals, human being & micro organism

(xvii) 1
(A) AIDS (B)
(C) (D)
Which one is sexualy transmitted disease ?
(A) AIDS (B) Malaria
(C) beri-beri (D) Typhoid

(xviii) 1
(A) (B)
(C) (D)
Hormone secreted by—
(A) Endocrine gland (B) exocrine gland
(C) tubular gland (D) none of these
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(xix) 1
(A) (B)
(C) (D)
Plant waste material stored in—
(A) leaves (B) bark
(C) cellular vacuoles (D) all of these

(xx) ‘The Origin of Species’ 1
(A) (B)
(C) (D)
Who wrote the book ‘The Origin of Species’ ?
(A) Darwin (B) Operin
(C) Lamarc (D) None of these.


